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- STIRSAE RoFESFHT
BHm 1,988,000 1,970,000
G 989,000 1,006,000
NE 1,549,000 1,589,000
2hm 363,000 391,000
ARRIET 464,000 481,000
+inET 534,000 555,000
=R 338,000 367,000
Lo 399,000 393,000
DHBMH 363,000 364,000
) 380,000 401,000
SERET 117,000 114,000
S BIET 80,000 80,000
SEMN 80,000 80,000
ST 88,000 84,000
i8S RET 97,000 81,000
SRET 109,000 115,000
EEEN 80,000 80,000
TR ET 144,000 138,000
KESET 99,000 104,000
HERER 80,000 90,000
HRAIDET 144,000 142,000
ESERET 154,000 154,000
FiHET 117,000 111,000
RS HhET 147,000 143,000
awi=l:i] 185,000 185,000
AV=l:i | 126,000 128,000
Ly pl=dii]) 80,000 80,000
ERALET 257,000 266,000
7N 156,000 152,000
BULSTEHT 236,000 225,000
KRSET 80,000 80,000
FEHt 105,000 114,000
R 80,000 80,000
SR 80,000 80,000
=FH 216,000 226,000
AFHE] 241,000 242,000
AT 92,000 95,000
FABRET 229,000 238,000
Fs_E T 181,000 184,000
FERAT 80,000 80,000
QEIENES=F= 11,327,000 11,488,000




